

ON THE RECIPROCAL DEGENERATE LAH-BELL POLYNOMIALS AND NUMBERS

BYUNG MOON KIM¹, YUNJAE KIM², AND JIN-WOO PARK³

ABSTRACT. In this paper, we consider reciprocal degenerate Lah-Bell polynomials and numbers and study some properties for those polynomials and numbers including their explicit expressions. In addition, we find some relationships between the reciprocal Lah-Bell numbers and special numbers and polynomials.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 05A40, 05A10, 33E20, 11B83.

KEYWORDS AND PHRASES. Lah numbers, degenerate Lah-Bell polynomials, reciprocal degenerate Lah-Bell polynomials.

1. INTRODUCTION

The *unsigned Lah number* $L(n, k)$ counts the number of ways a set of n elements can be partitioned into k nonempty linearly ordered subsets and have an explicit formula

$$(1) \quad L(n, k) = \binom{n-1}{k-1} \frac{n!}{k!}, \quad (\text{see [2, 4, 5, 7-10]}).$$

By (1), we can derive the generating function of $L(n, k)$ to be

$$(2) \quad \frac{1}{k!} \left(\frac{t}{1-t} \right)^k = \sum_{n=k}^{\infty} L(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [2, 4, 5, 9, 10]}).$$

The *Bell polynomials* are defined by the generating function to be

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}, \quad (\text{see [2, 4, 5, 7, 9, 11, 13, 15, 16]}).$$

In the special case $x = 1$, $Bel_n = Bel_n(1)$ are called the *n -th Bell numbers*. The n -th Bell number is the number of ways to partition a set with n elements into non-empty subsets. Note that

$$Bel_n = \sum_{k=0}^n S_2(n, k),$$

where $S_2(n, k)$ is the Stirling numbers of the second kind which is the number of ways to partition a set n elements into k non-empty subsets.

In [7], Kim and Kim introduced the *Lah-Bell polynomials* by using generating function to be

$$(3) \quad e^{x\left(\frac{t}{1-t}\right)} = \sum_{n=0}^{\infty} B_n^L(x) \frac{t^n}{n!}.$$

When $x = 1$, $B_n^L = B_n^L(1)$ are called the n -th *Lah-Bell numbers*. Note that B_n^L is the number of ways a set of n elements can be partitioned into non-empty linearly ordered subsets.

For each $\lambda \in \mathbb{R} - \{0\}$, the *degenerate exponential function* is defined by

$$(4) \quad e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} \quad \text{and} \quad e_\lambda(t) = (1 + \lambda t)^{\frac{1}{\lambda}}.$$

Note that $\lim_{\lambda \rightarrow 0} e_\lambda^x(t) = e^{xt}$ and $\lim_{\lambda \rightarrow 0} e_\lambda(t) = e^t$.

By using (4), the *degenerate Lah-Bell polynomials* are defined by the generating function to be

$$(5) \quad e_\lambda^x\left(\frac{t}{1-t}\right) = \sum_{n=0}^{\infty} B_{n,\lambda}^L(x) \frac{t^n}{n!}, \quad (\text{see [4, 5]}).$$

In the special case $x = 1$, $B_{n,\lambda}^L = B_{n,\lambda}^L(1)$ are called *degenerate Lah-Bell numbers*.

The study of degenerate versions of Bernoulli and Euler polynomials and numbers is initiated by Carlitz in [1], and recently, many researcher investigated various degenerate version of some special functions (see [3, 5, 6, 12, 15-18]). These studies are important not only in number theory and combinatorics but also in probability theory and applications of differential equations.

In this paper, we consider reciprocal degenerate Lah-Bell polynomials and numbers and study some properties and identities for those polynomials and numbers. In addition, we find some relationships between the reciprocal Lah-Bell numbers and special numbers and polynomials.

2. RECIPROCAL DEGENERATE LAH-BELL POLYNOMIALS

First of all, we observe that $e_\lambda^{-x}\left(\frac{t}{1-t}\right)$ is the reciprocal of the generating function of degenerate Lah-Bell polynomials $B_{n,\lambda}^L(x)$. We define the *reciprocal degenerate Lah-Bell polynomials* $\mathcal{B}_{n,\lambda}(x)$ whose generating function to be

$$(6) \quad e_\lambda^{-x}\left(\frac{t}{1-t}\right) = \sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}(x) \frac{t^n}{n!}.$$

In the special case $x = 1$, $\mathcal{B}_{n,\lambda} = \mathcal{B}_{n,\lambda}(1)$ are called the *reciprocal Lah-Bell numbers*.

Note that

$$(7) \quad \begin{aligned} \frac{1}{(1-t)^m} &= \sum_{l=0}^{\infty} \binom{-m}{l} (-t)^l \\ &= \sum_{l=0}^{\infty} \langle m \rangle_l \frac{t^l}{l!}, \end{aligned}$$

where $\langle x \rangle_0 = 1$, $\langle x \rangle_n = x(x+1)(x+2)\cdots(x+(n-1))$ is the rising factorial of x . In addition, $\langle x \rangle_{0,\lambda} = 1$, $\langle x \rangle_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$.

Theorem 2.1. *For each nonnegative integer n , we have*

$$\begin{aligned} \mathcal{B}_{n,\lambda}(x) &= \sum_{m=0}^n (-1)^m L(n, m) \langle x \rangle_{m,\lambda} \\ &= \sum_{m=0}^n \binom{n}{m} (-1)^m \langle m \rangle_{n-m} \langle x \rangle_{m,\lambda}. \end{aligned}$$

In particular,

$$\begin{aligned} \mathcal{B}_{n,\lambda} &= \sum_{m=0}^n (-1)^m L(n, m) \langle 1 \rangle_{m,\lambda} \\ &= \sum_{m=0}^n \binom{n}{m} (-1)^m \langle m \rangle_{n-m} \langle 1 \rangle_{m,\lambda}. \end{aligned}$$

Proof. By (2) and (6), we get

$$\begin{aligned} e_{\lambda}^{-x} \left(\frac{t}{1-t} \right) &= \left(1 + \lambda \left(\frac{t}{1-t} \right) \right)^{-\frac{x}{\lambda}} = \sum_{m=0}^{\infty} \binom{-\frac{x}{\lambda}}{m} \lambda^m \left(\frac{t}{1-t} \right)^m \\ &= \sum_{m=0}^{\infty} (-1)^m \langle x \rangle_{m,\lambda} \frac{1}{m!} \left(\frac{t}{1-t} \right)^m \\ &= \sum_{m=0}^{\infty} (-1)^m \langle x \rangle_{m,\lambda} \sum_{l=m}^{\infty} L(l, m) \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n (-1)^m L(n, m) \langle x \rangle_{m,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

On the other hand, by (7), we have

$$\begin{aligned} (8) \quad e_{\lambda}^{-x} \left(\frac{t}{1-t} \right) &= \sum_{m=0}^{\infty} (-1)^m \langle x \rangle_{m,\lambda} \frac{1}{m!} \left(\frac{t}{1-t} \right)^m \\ &= \sum_{m=0}^{\infty} \sum_{l=0}^{\infty} (-1)^m \langle x \rangle_{m,\lambda} \langle m \rangle_l \frac{t^{m+l}}{m!l!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} (-1)^m \langle m \rangle_{n-m} \langle x \rangle_{m,\lambda} \right) \frac{t^n}{n!}, \end{aligned}$$

and thus our proofs are completed. \square

Note that

$$\begin{aligned}
& \left(1 + \lambda \frac{t}{1-t}\right)^{-1} \frac{1}{(1-t)^2} \\
&= \sum_{l=0}^{\infty} \binom{-1}{l} \lambda^l \left(\frac{t}{1-t}\right)^l \frac{1}{(1-t)^2} = \sum_{l=0}^{\infty} \frac{(-1)^l \langle 1 \rangle_l}{l!} \lambda^l t^l (1-t)^{-l-2} \\
(9) \quad &= \left(\sum_{l=0}^{\infty} \frac{(-1)^l \langle 1 \rangle_l}{l!} \lambda^l t^l \right) \left(\sum_{m=0}^{\infty} \langle l+2 \rangle_m \frac{t^m}{m!} \right) \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{n-l} \right) \frac{t^n}{n!}.
\end{aligned}$$

Theorem 2.2. For each nonnegative integer n , we have

$$\begin{aligned}
\mathcal{B}_{n+1,\lambda}(x) &= -x \sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} \mathcal{B}_{m,\lambda}(x+\lambda) \\
&= -x \sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-\lambda)^l l! \langle l+1 \rangle_{k-l} \mathcal{B}_{n-k}(x).
\end{aligned}$$

In particular,

$$\begin{aligned}
\mathcal{B}_{n+1,\lambda} &= - \sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} \mathcal{B}_{m,\lambda}(1+\lambda) \\
&= \sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-1)^{l+1} \lambda^l l! \langle l+1 \rangle_{k-l} \mathcal{B}_{n-k}.
\end{aligned}$$

Proof. By taking the derivative with respect to t on both sides of (6), we get

$$(10) \quad \frac{d}{dt} \left(\sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}(x) \frac{t^n}{n!} \right) = \sum_{n=0}^{\infty} \mathcal{B}_{n+1,\lambda}(x) \frac{t^n}{n!},$$

and

$$\begin{aligned}
& \frac{d}{dt} \left(e^{-x} \left(\frac{t}{1-t} \right) \right) = \frac{d}{dt} \left(1 + \lambda \frac{t}{1-t} \right)^{-\frac{x}{\lambda}} \\
(11) \quad &= -x \left(1 + \lambda \frac{t}{1-t} \right)^{-\frac{x+\lambda}{\lambda}} (1-t)^{-2} \\
&= -x \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} \mathcal{B}_{m,\lambda}(x+\lambda) \right) \frac{t^n}{n!}.
\end{aligned}$$

By (11) and (10), we have

$$\mathcal{B}_{n+1,\lambda}(x) = -x \sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} \mathcal{B}_{m,\lambda}(x+\lambda).$$

On the other hand, by (9), we get

$$\begin{aligned}
 (12) \quad & \frac{d}{dt} \left(e^{-x} \left(\frac{t}{1-t} \right) \right) = \frac{d}{dt} \left(1 + \lambda \frac{t}{1-t} \right)^{-\frac{x}{\lambda}} \\
 & = -x \left(1 + \lambda \frac{t}{1-t} \right)^{-\frac{x}{\lambda}} \left(1 + \lambda \frac{t}{1-t} \right)^{-1} (1-t)^{-2} \\
 & = -x \left(\sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}(x) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{n-l} \right) \frac{t^n}{n!} \right) \\
 & = -x \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{k-l} \mathcal{B}_{n-k,\lambda}(x) \right) \frac{t^n}{n!}.
 \end{aligned}$$

By (10), (11) and (12), we obtain

$$\mathcal{B}_{n+1,\lambda}(x) = -x \sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{k-l} \mathcal{B}_{n-k,\lambda}(x).$$

□

From now on, we find the relationship between degenerate Lah-Bell polynomials and reciprocal degenerate Lah-Bell polynomials.

Theorem 2.3. *For each nonnegative integer n , we have*

$$\sum_{l=0}^n \binom{n}{l} B_{n-l,\lambda}^L(x) \mathcal{B}_{l,\lambda}(x) = \delta_{0,n},$$

where $\delta_{0,\lambda}$ is the Kronecker's symbol.

In particular,

$$\sum_{l=0}^n \binom{n}{l} B_{n-1,\lambda}^L \mathcal{B}_{l,\lambda} = \delta_{0,n}.$$

Proof. By (5) and (6), we get

$$\begin{aligned}
 (13) \quad & 1 = e^x \left(\frac{t}{1-t} \right) e^{-x} \left(\frac{t}{1-t} \right) \\
 & = \left(\sum_{m=0}^{\infty} B_{m,\lambda}^L(x) \frac{t^m}{m!} \right) \left(\sum_{l=0}^{\infty} \mathcal{B}_{l,\lambda}(x) \frac{t^l}{l!} \right) \\
 & = \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} B_{n-l,\lambda}^L(x) \mathcal{B}_{l,\lambda}(x) \right) \frac{t^n}{n!}.
 \end{aligned}$$

By (13), we proof is completed.

□

Note that, by taking the derivative with respect to t on both sides of (5), we get

$$\begin{aligned}
 \frac{d}{dt} \left(e^x \left(\frac{t}{1-t} \right) \right) &= \frac{d}{dt} \left(1 + \lambda \frac{t}{1-t} \right)^{\frac{x}{\lambda}} \\
 (14) \qquad \qquad \qquad &= x \left(1 + \lambda \frac{t}{1-t} \right)^{\frac{x}{\lambda}-1} \frac{1}{(1-t)^2} \\
 &= x \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} B_{m,\lambda}^L(x-\lambda) \right) \frac{t^n}{n!}.
 \end{aligned}$$

In addition, by (9) and (14), we have

$$\begin{aligned}
 \frac{d}{dt} \left(e^x \left(\frac{t}{1-t} \right) \right) &= x \left(1 + \lambda \frac{t}{1-t} \right)^{\frac{x}{\lambda}} \frac{1}{(1-t)^2} \\
 (15) \qquad \qquad \qquad &= x \left(1 + \lambda \frac{t}{1-t} \right)^{\frac{x}{\lambda}} \left(1 + \lambda \frac{t}{1-t} \right)^{-1} (1-t)^{-2} \\
 &= x \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{k-l} B_{n-k,\lambda}^L(x) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Since

$$(16) \qquad \qquad \frac{d}{dt} \left(\sum_{n=0}^{\infty} B_{n,\lambda}^L(x) \frac{t^n}{n!} \right) = \sum_{n=0}^{\infty} B_{n+1,\lambda}^L(x) \frac{t^n}{n!},$$

by (14), (15) and (16), we obtain the following theorem.

Theorem 2.4. *For each nonnegative integer n , we have*

$$\begin{aligned}
 (17) \qquad B_{n+1,\lambda}^L(x) &= x \sum_{m=0}^n \binom{n}{m} \langle 2 \rangle_{n-m} B_{m,\lambda}^L(x-\lambda) \\
 &= x \sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} \binom{k}{l} (-\lambda)^l l! \langle l+2 \rangle_{k-l} B_{n-k,\lambda}^L(x).
 \end{aligned}$$

By (10) and (11), we know that

$$(18) \qquad \sum_{n=0}^{\infty} \mathcal{B}_{n+1,\lambda}(x) \frac{t^n}{n!} = -x \left(1 + \lambda \frac{t}{1-t} \right)^{-\frac{x}{\lambda}} \left(1 + \lambda \frac{t}{1-t} \right)^{-1} (1-t)^{-2}.$$

Theorem 2.5. *For each nonnegative integer n , we have*

$$\sum_{l=0}^n \binom{n}{l} B_{n-l,\lambda}^L(x) \mathcal{B}_{l+1,\lambda}(x) = -x \sum_{m=0}^n \binom{n}{m} (-\lambda)^m m! \langle m+2 \rangle_{n-m}.$$

In particular,

$$\sum_{l=0}^n \binom{n}{l} B_{n-l+1,\lambda}^L \mathcal{B}_{l,\lambda} = - \sum_{m=0}^n \binom{n}{m} (-\lambda)^m m! \langle m+2 \rangle_{n-m}.$$

Proof. By multiplying $\left(1 + \lambda \frac{t}{1-t}\right)^{\frac{x}{\lambda}}$ on both sides of (18), we get

$$\begin{aligned} -x \left(1 + \lambda \frac{t}{1-t}\right)^{-1} (1-t)^{-2} &= \left(\sum_{n=0}^{\infty} \mathcal{B}_{n+1,\lambda}(x) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} B_{n,\lambda}^L(x) \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} B_{n-m,\lambda}^L(x) \mathcal{B}_{m+1,\lambda}(x)\right) \frac{t^n}{n!}. \end{aligned}$$

By (9), we get

$$\sum_{m=0}^n \binom{n}{m} B_{n-m,\lambda}^L(x) \mathcal{B}_{m+1,\lambda}(x) = -x \sum_{l=0}^n \binom{n}{l} (-\lambda)^l \langle 1 \rangle_l \langle l+2 \rangle_{n-l}.$$

□

If we multiple multiplying $\left(1 + \lambda \frac{t}{1-t}\right)^{\frac{x}{\lambda}+1}$ on both sides of (18), then

$$\begin{aligned} (19) \quad \frac{-x}{(1-t)^2} &= \left(\sum_{n=0}^{\infty} \mathcal{B}_{n+1,\lambda}(x) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} B_{n,\lambda}^L(x+\lambda) \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m+1,\lambda}(x) B_{m,\lambda}^L(x+\lambda)\right) \frac{t^n}{n!}. \end{aligned}$$

By (7) and (19), we have

$$(20) \quad \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m+1,\lambda}(x) B_{m,\lambda}^L(x-\lambda) = -x \langle 2 \rangle_n.$$

By (20), we obtain the following theorem.

Theorem 2.6. *For each nonnegative integer n , we have*

$$\sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m+1,\lambda}(x) B_{m,\lambda}^L(x+\lambda) = -x \langle 2 \rangle_n.$$

In particular,

$$- \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m+1,\lambda} B_{m,\lambda}^L(1+\lambda) = \langle 2 \rangle_n.$$

3. CONCLUSION

In the past decades, various degenerate versions of some special polynomials and numbers have been studied actively by many researchers. In particular, degenerate Lah-Bell polynomials were defined by Kim-Kim as degenerate version of Lah-Bell polynomials in [4].

In [14], authors investigated some properties for reciprocal degenerate Bell numbers and polynomials, including their explicit expressions, recurrence relations and their connections with the degenerate Bell numbers and polynomials.

In this paper, we consider reciprocal degenerate Lah-Bell polynomials and numbers and found some properties for those polynomials and numbers including their explicit expressions. In addition, we studied some relationships

between the reciprocal Lah-Bell numbers and special numbers and polynomials.

4. ACKNOWLEDGMENTS

This work was made with the support of Dongguk University's research year in 2020.

REFERENCES

- [1] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Util. Math., **15**, (1979), 51-88.
- [2] L. Comtet, *Advanced combinatorics*, Dordrecht-Holland, 1974.
- [3] D. S. Kim and T. Kim, *Some identities of degenerate Daehee numbers arising from certain differential equations*, J. Nonlinear Sci. Appl., **10**, (2017), 744-751.
- [4] D. S. Kim and T. Kim, *Lah-Bell numbers and polynomials*, Proc. Jangjeon Math. Soc., **23**, no. 4, (2020), 577-586.
- [5] H. K. Kim, *Degenerate Lah-Bell polynomials arising from degenerate Sheffer sequences*, Adv. Differ. Equ., **2020**, paper no. 687, 16pp.
- [6] H. K. Kim and L. C. Jang, *Type 2 degenerate poly-Euler polynomials*, Symmetry, **12**, 1011 (2020).
- [7] Y. Ma, D. S. Kim, T. Kim, H. Y. Kim and H. S. Lee, *Some identities of Lah-Bell polynomials*, Adv. Differ. Equ., **2020**, paper no. 510, 10pp.
- [8] G. Nyul and G. Rácz, *The r -Lah numbers*, Discerte Math., **338**, (2015), 1660-1666.
- [9] S. Roman, *The umbral calculus*, Dover Publ. Inc. New York, 2005.
- [10] S. Tauber, *Lah Numbers for Fibonacci and Lucas Polynomials*, Fibonacci Quart., **6**, no. 5, (1968), 93-99.
- [11] Y. Zheng, N. N. Li, *Bivariate Extension of Bell Polynomials*, J. Integral Seq., **22** (1968), no. 8, Art. 19.8.8, 8pp.
- [12] T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc., **20**, no. 3, (2017), 319-331.
- [13] T. Kim, D. S. Kim, H. Y. Kim and J. Kwon, *Some identities of degenerate Bell polynomials*, Mathematics, **8**, 40, (2020), 8 pp.
- [14] T. Kim and D. S. Kim, *A Note on Reciprocal Degenerate Bell Numbers and Polynomials*, Montes Taurus J. Pure Appl. Math., **3**, no. 3, (2021), 140-146.
- [15] T. Kim and D. S. Kim, *Degenerate polyexponential functions and degenerate Bell polynomials*, J. Math. Anal. Appl., **487**, no. 2, (2020), 124017, 15pp.
- [16] T. Kim and D. S. Kim, *A note on reciprocal degenerate Bell numbers and polynomials*, Montes Taurus J. Pure Appl. Math., **3**, no. 3, (2021), 140-146.
- [17] T. Kim and D. S. Kim, *Note on the degenerate gamma function*, Russ. J. Math. Phys., **27**, no. 3, (2020), 352-358.
- [18] T. Kim, D. S. Kim, H. Lee and J. W. Park, *A note on degenerate r -Stirling numbers*, J. Inequal. Appl., **2020**, paper no. 225, 12pp.

¹ DEPARTMENT OF MECHANICAL SYSTEM ENGINEERING, DONGGUK UNIVERSITY, 123 DONGDAE-RO, GYUNGJU-SI, GYEONGSANGBUK-DO, 38066, REPUBLIC OF KOREA.
Email address: kbm713@dongguk.ac.kr

² DEPARTMENT OF MATHEMATICS, KYUNGPPOOK NATIONAL UNIVERSITY, DAEGU 41566, REPUBLIC OF KOREA.
Email address: kimholzi@gmail.com

³ DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU UNIVERSITY, 38453, REPUBLIC OF KOREA.
Email address: a0417001@daegu.ac.kr